m\ L,
i g 5_8_8 Negative eksponenter pa 10

N Dato:_______ Score:
107 = 6 10 =
—1 x 107 = 2% 10% =
193,2x 107 = 1003 =
224,8+ 107 = 100D =
1079 = 1003 =
815,1x 1007 = 7% 100D =
6x 10" = 723,1+ 10% =
1077 = 497,4+10° =
—1x 1009 = 1003 =
100% = 1002 =
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™\ L
g g 8_%8 Negative eksponenter pd 10

Navn:__ Dato:_ Score:__
1072 = 0.01 6x 10 = 60
~1 x 107 = —0.0001 2 % 10% = 200
193,2 x 107 =0.1932 107% = 0.001
224, 8+ 10 = 224800 105D =0.1
107 = 0.0001 107 = 0.001
815,1 x 107 = 0.8151 7x100Y =07
6x10°=6 723,1+10* = 7.231
107 = 0.001 497,4+10* = 4.974
~1 x 107 = —0.0001 107 = 0.001
107 = 0.0001 1072 = 0.01
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